BT TRIA O - HEHHEE X T BFEJ‘zigﬁosﬁ KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,719 86,976 41,488 45,488
RIRET1T 6 15 9 6
RIRET2T 27 55 27 28
AIEET3T 176 591 292 299
RIRET4T 412 994 490 504
B 621 1,655 818 837
REH 2,669 6,206 2,908 3,298
L&A 4,237 9,535 4,482 5,053
5E 2,563 5,998 2,910 3,088
B AN 1,248 2,861 1,332 1,529
BERT 1,294 1,968 937 1,031
BER2T 712 1,364 660 704
BHERST 388 872 423 449
g 2,394 4,204 2,020 2,184
BARE 279 689 353 336
= 2,210 5,241 2,485 2,756
hERE 627 1,445 658 787
e 2,406 5211 2,505 2,706
25 L ET 2,274 5,129 2,445 2,684
B &AL BT 79 168 68 100
HEFILET1T 567 1,215 575 640
HEFILET2T 612 1,354 638 716
HEZFILAT3T 621 1,465 727 738
g 1,879 4,202 2,008 2,194
B & it B Fr ET 689 1,646 794 852
BHEREBET1T 595 1,226 584 642
BHERERET2T 762 1,763 852 911
BHERERETST 783 1,689 767 922
HERERET4T 449 957 470 487
HEHFMHETST 818 1,700 805 895
HEHFHET6T 882 1,990 957 1,033
HEFRET7T 834 1,832 884 948
HERERETST 70 216 101 115
£t| 5193 11,373 5,420 5,953
HEF R FET 1,861 3,987 1,935 2,052
S|EFET1T 575 1,555 774 781
S|EFET2T 765 1,817 861 956
S|EFET3 T 716 1,431 669 762
g 2,056 4,803 2,304 2,499
ERE1T 573 1,357 652 705
EIRET2T 387 1,031 516 515
EREIST 474 1,312 638 674
EIRETAT 695 1,522 690 832
EIZEIST 495 1,016 516 500
g 2,624 6,238 3,012 3,226
MEH 2,776 6,331 3,001 3,330
J\THET1T 34 37 12 25
J\THET2T 27 69 34 35
J\THEI3T 52 116 52 64
B 113 222 98 124

IR=



